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ArtEth AFR F#| &5l BiE fIERY |REXEE E4-1 "%

k H JKHZE2 1 | 28 [3v9)—hESMEE| 3DK H11 18,900~ | & (3f5)
& H =H 1| o Ki& 3DK H21 22,100 ~ HE A

— & Kid 2 | 2E [av9)—hE2REE| 3DK H4 17,100/ ~ A

— & i 1 | 2% |3v9)—rE3FEE| 3DK HO 19,000~ | tHFHACRE)
SRF HFFO 1 | 28 [3v9)—bE2FEE| 3DK H5 18,100~ | tHHA(1FE)
HEFRF HERFQ 1| oE K& 3DK H8 15,700 ~ HEA

ERF HFFOQ 1 | 28 [3v9)—hESMKEE| 3DK HO 18,700~ | t#F A (3FE)
B2H ZENO 1| a8 (3v9)—rESREE| 3DK H3 17,900~ | tH#F (20)
B2H ZI1O) 1| a8 (3>9)—rESREE| 3DK H6 18,600~ | tH#HF (2/%)
B2H ZEND 1| a8 (3>9)—rESREE| 3DK H4 18,100~ | =M (3B
* B | BHEE—1 | 2 | A8 |3v9)—hE4ARSE| 3DK | S53 12,600 ~ A

® B | BEE—2 | 1 | 28 |2av9)—rE4RE| 3DK S54 13,300~ | &M (2R)
® B | BLHEAE-3 | 1 | 28 |2avy)—rE4RE| 3DK S55 13,600~ | &M (4R5)
Z B HFEN—1 1 | 2% |3vy)—rE4FEE| 3DK S58 14,600~ | tHFHA (R
Z B HFEN—2 1| A8 |39 )—hE4REE| 3DK H8 20,000~ | {HH M (3FE)
Bz | Bzio—1 1 | 28 [3v9)—bE2FEE| 3DK S60 14900~ | tHFHA(2F)




